
EXPLOSIONSZEICHNUNG

KBS Gastrotechnik GmbH – Schoßbergstraße 26 – 65201 Wiesbaden

www.kbs-gastrotechnik.de 
Stand September 2024 

*Für Druckfehler keine Haftung



S/N Description (English) Material Part Code Unit QTY

1 Power indicator 250V/16A, green 70101300046 2

2-1 Thermostat 50-300℃/250V,16A 70100300246 2

2-2 Thermostat Knob with base ABS  ￠40.5（A04）; 50-300℃ 70101100464+70101100091 2

3 Cross head screw Galvanized M4×6/A3 4

4 Heating indicator 250V/14A, yellow 70101300055 2

5 Bottom body 304δ=0.8mm 1

6 Socket head screw M6×10 45#Oxide passivation 4

7 Flat shim φ18×φ6.5×1.5 A3 Galvanized 4

8 Socket head screw M5×25 45#Oxide passivation 2

9 Flat shim φ18×φ6.5×1.5 A3 Galvanized 2

10 Torsion spring 65Mn steel wire φ3.5 70200800273 2

11 Back Rotation shaft Cold-drawn steel pipeφ14×1.5 70200402391 2

12 Holding stand Brass 35×15×13 70202001373 2

13 Socket head screw M6×40 45#Oxide passivation 4

14 Back top shield 304δ=0.8mm 1

15 Cross head screw M4×8 A3 chrome plating 1

16 Elastic cylinder pin φ4×40, 65Mn 2

17 Equipotential grounding screw M6×15 brass 1

18 Wire jacket φ16  heat-resisting plastic 1

19 Power cord 250V 1

20 Power grounding screw M5×15 brass 1

21 Bottom plate Cast iron 70200101855 1

22 Top cover 304δ=0.8mm 2

23 Cross head screw M4×8 A3 Chrome plated 8

24 Upper heat insulation cotton Fiberglass 1

25 Heating element pressure plate Galvanized sheet δ=1.0mm 2

26 Top plate Cast iron 70200101837+70200101846 1

27 Top heating element 230V 0.8kW SS pipeφ6 70100400264 2

28 Leading-in pipe Cold-drawn steel pipeφ14×1.5 70202011255 2

29 Axial circlip 65Mnφ12 4

30 Pipe circlip 65Mnφ14 4

31 Shaft bearing for top cover Cold-drawn round steelφ12×386 chrome plated 2

32 Socket head screw M5×16 45#O chrome plating 4

33 Socket head screw M6×8 45#O chrome plating 4

PG-SA / PG-2SA PART LIST



34 Handle sleeve Bakelite φ30×262mm 70200700491 2

35 Handle frame A3 steel 280×350×20 70200701919 2

36 Oil collector 304δ=0.8mm 1

37 Lower heat insulation cotton Fiberglass 1

38 Pressure plate for cotton Zinc platingδ=0.8mm 1

39 Cross head screw M4×20 A3 chrome plating 2

40 Terminal board 430 δ=1.0mm 1

41 Cross head screw M4×8 A3 chrome plating 8

42 Terminal ceramic Heat resisting ceramic 500V, 15A 70100700528 1

43 Temperature Limiter 130℃/250V,16A 70100300337 2

44 Hexagonal head screw M6×20/A3 chrome plating 4

45 Rubber foot φ30×15 rubber black 70200900273 4

46 Lower heating element pressure plate Galvanized sheet δ=1.0mm 2

47 Lower heating element 230V 1.0kWSS pipeφ6 70100400273 2

48 Socket head screw M6×8 45# chrome plating 8

49 Bottom plate Galvanized sheet δ=0.8mm 1

50 Cross head screw M4×8 A3 chrome plating 6




